PRODUCTION & OPERATIONS MANAGEMENT SAMPLE PAPER
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Section 1 : Question 1 out of 3 TotalTime Left (mm:ss) 69:572
Revisit Later is only for student’s reference, however these questions will be considered for evaluation. Revisit Later information will be lost if restarted

Question type: Subjective Marks: 5

What are the costs associated with a machine breakdown?
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1- down time costs 
2- ideal wages to workmen
 3- cost of repairs

4- expediting cost 
5- opportunity cost lost 
6- added set-up costs

7- increse in WIP investment 
8- reduced life of equipments 


9- broken promises
10- cost of stand-by equipments 
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Section 2 - Question 11 out of 27 TotalTime Lett (mm:=s)7 0:07

Revisit Later is only for students reference, However these questions will be considered for evaluation. Revisit Later information will be ost f restaried

Question type: Match the following

Match the Following

Change in chemical characteristic [ Chemical reacion |
Consumption of effort [Pressshopoperation |
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Section 1 : Question 3 out of 20 TotalTime Left (mess) 38202

Question type: Multiple choice multiple select Marks: 2

‘Which are the general principles underlying probability aspects of project planning?
M statistically three time estimate of an activity conform to Beta distribution.

[E] Expected time divides the area under the curve into two equal parts.

¥ Expected time divides the area under the curve into three equal parts.

¥ Expected time of an activity is located at one third of the distance between "m" and mid-range { (a+b)/2 } away from the most
likely time.
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Section 1 : Question 4 out of 20 TotalTime Left (mmss) 37:44
Question type: Multiple choice multiple select Marks: 2

The pictorial view of Control Board is useful to

M Identify the machine to which no further job has been allocated.
M Know whether all machines in the workshop are engaged.

¥ Obtain an idea of reverse load on the machine.

[ Design Kanban System for Manufacturing Supply Chain.
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Section 2 : Question 20 out of 27 TotalTime Left (mm:ss) 56:08
Revisit Later is only for student’s reference, however these questions will be considered for evaluation. Revisit Later information will be lost if restarted

Question type: Fill in the blanks Marks: 1

In order to reduce set up time, | SMED [ Single Minute Exchange of Dies ] |

can help great way.
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Question 9 of 20 (Section :1) Total Time Left 3620 a

Question type:True or false
Positive Marks:1 EEEEEEE

Systematic maintenance system can completely eliminate the wear and tear of machines. . 9 10 11 12 13 14
15| 16| (17| 18] [19| |20

@ False

O True
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Section 2 : Question 9 out of 27
Revisit Later is only for student’s reference, however these questions will be considered for evaluation. Revisit Later information will be lost if restarted

Question type: Multiple choice single select
Production Kanban used together with Transport Kanban is known as

@ Joint Kanban

@® Integrated Kanban

© Mixed Kanban

© Total Kanban
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Section 2 : Question 26 out of 27
Revisit Later is only for student’s reference, however these questions will be considered for evaluation. Revisit Later information will be lost if restarted

Question type: Multiple choice single select
Which of the following technique makes three time estimates for each activity?

© Project Evaluation & Review Technique

@® Critical Path Method

© Critical Project Management

© Project Engineering & Resources Technique
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Question type: Multiple choice

gle select Marks: 2

One of the symptoms of poor plant layout is
©® Unnecessary handiing

© High material cost

© Poor quality

© Frequent breakdown of machines
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